prawing  \/SSP406020 v

Model

ISO 13920-BG WELDINGS
WELDED CONSTRUCTIONS

DIN 6930-C STAMPED STEEL PARTS

FLAT SURFACES / BENDINGS

ISO 2768-C GENERAL TOLERANCES

LINEAR AND ANGULAR DIMENSIONS

2 \ 3 \ 4 5 6 7 8
ID Description Date By Appr.
 — —
A |1 23.7.18 PLe
- D
400
460
455
397 opening 200
380 2.5 440
X X-X
-
1
° : °
ITIZIIIZZZZZZZXZ::::::::::::\_l
i b =2 [o— 1}
§ | "
11 1
11 1
11 ‘ n
11 1
11 1
[N} N
i ¥
Y : : N Y
:: ‘ 1 o
I
1 " <
[N} [N} c
3 — o — o — o — o — - ef-—d D 3R 3 lo of 3
(o] 1 1 o) (o] [le]RTolINTe] 0w
[N} 1 '\
! | i 2
[N} 1
[N} 1
[N} '
10 1 | 1
=~ I I
o I 11
i | |
1 ' !
i | ¥
]
ig ‘ o -3 d 1 o] o
el | (@)
° | ° LO(
o | &
ﬁ' 37.5 ;
X—-—i 5 PPE19214 Mounting Plate V4060 1 0
4 |RST12114 Lid VSS4060 1 0
380 3 |PLF33 DIN912 M6x20 A4 hex socket screw 6 0
Y-Y 2 | PUA84 DIN125 M6 A4 Washer 6 0
1 |RST12014 Base VSSP406020 1 0
C 1 Part Code Description Pcs \[/g]e/gc,:
o 'ls'nl'Jer;ir(fent: Color: - WT;%M 15000
M8x25— \': Material: ~ Stainless steel Casemet Material:
s CASEMET |
DN M6x15 Casemet Oy Enclosure VSSP406020 Fepleced
50 weld stud Scale pate  |23.7.18 e A
M6x12 43:300 By PLe Ref: Cubo V
weld stud A3 Checked
Sreeto: 1 (1) ol oo VSSP406020

Copyright Casemet. Unauthorized use and distribution of this document is strictly prohibited.




	Sheet 1
	Views
	new_view_1
	bottom_2
	right_3
	top_4
	left_5
	left_7



